Item No. Description Part No.
1 N35 BR End Clip Nylon LH 35DRS - 104L
2 N35 BR End Clip Nylon RH 35DRS - 104R
3 N35 Bottom Rail 35DRS - 101
4 N35 BR Flat Backing Cover - (Shown) 35DRS - 102
4 N35 BR Deep Backing Cover (Optional) 35DRS - 103
5 Bar Lock Holder - Nylon 35DRS - 602
6 Bar Lock Hinge Plate - Nylon 35DRS - 601
7 Bar Lock Spring 35DRS - 603
8 Aluminium Spacer 35DRS - 604
9 Tube 22.2 OD x 1.6mm S/S 35DRS - 605
10 Cylindrical PRM Magnet 25x8mm 35DRS - 106
11 N35 Side Fix Guide - LH 35DRS - 401L
12 N35 Side Fix Guide - RH 35DRS - 401R
13 N35 Sill Plate Extrusion 35DRS - 201
14 N35 Lath 35DRS - 701
15 N35 Lath Seal 35DRS - 702
16 N35 Nylon End Clip LH 35DRS - 703L
17 N35 Nylon End Clip RH 35DRS - 703R
18 Bottom Rail Seal 35DRS - 105
19 N35 Guide Seal 35DRS - 402
20 N35 Gutter End Cap Nylon 35DRS - 503
21 N35 Gutter Extrusion 35DRS - 501
22 N35 Head Seal 35DRS - 505
23 Gutter Back Seal 35DRS - 504
24 N35 Gutter Cover Extrusion 35DRS - 502
25 75mm Dia Tube 35DRS - 901
26 20mm Dia x 2mm ERW MS Tube 35DRS - 902
27 75mm Dia Nylon Core 35DRS - 903
28 Female Strap Connector 35DRS - 801
29 Proximity Switch 35DRS - 403
30 Universal Headplate with Stud RH 35DRS - 301R
31 Wheel - 100mm Diameter Black Nylon 35DRS - 302
32 Washer 1/2" Flat ZP 35DRS - 304
33 Boss Stamped Steel 35DRS - 305
34 Shoulder Bolt 35DRS - 303
35 Universal Headplate with Stud LH 35DRS - 301L
36 Joiner Strap Assembly 35DRS - 802
37 Screw M6-1.00 x 12 CSK-PHIL 35DRS - 608
38 Bolt 1/4 x 1-1/4" Hex HD ZP 35DRS - 306
39 Nut Nyloc 1/4 Hex 35DRS - 307
40 Cotter Pin 3/16" x 1-1/2" (Zinc) 35DRS - 308
@ 41 Charge Pin 35DRS - 309
42 Screw M5 x 50 selftap 35DRS - 107
43 Rivet 3/16 x 1/2" (AD62-64-BS) 35DRS - 904
44 Bottom Rail Lip Plug 35DRS - 108
45 Tube End Plugs - Nylon 35DRS - 606
46 Double Sided Tape 3M VHP 4991 35DRS - 404
47 LED Strip Lighting 35DRS - 405
48 Striker Block 35DRS - 406
49 Rivet 73 STST 5-5 (40X12.5) 35DRS - 607
50 Rivet 73 STST 5-5 (40X12.5) 35DRS - 607
51 DOVER NAME PLATE 35DRS - 109
52 Rivet 1/8 x 0.063 - 0.125 Alum Pull Rivet 35DRS - 609
53 CB Caution Sticker 35DRS - 905
SCALE
N35 - ALUMINIUM ROLLER SHUTTER NTS DOVER VANGUARD ROLLER SHUTTERS LIMITED
. - - . — ; . — - - Coldhurst Street, Phone: 0161 652 3498
CONFIDENTIAL NOTE: This drawing and it's designs, specifications and engineering information disclosed hereon are DRAWN | Oldham, OL12DN
the property of DOVER VANGUARD ROLLER SHUTTERS LIMITED and are not fo be disseminated or reproduced HPLY England Fax: 0161 627 2697
without express written consent. The drawing is loaned in confidence and then only for consideration of the matter
hereon. In acceplting loan of this drawing, the recipient agrees fo keep it and the maftter disclosed hereon in DATE DWG/Part No:
confidence and noft fo use nor permit their use in any way defrimental fo DOVER VANGUARD ROLLER SHUTTERS 05/12/12 ‘ N35 - PART LIST

LIMITED,




